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:�������6�����A%����I��2
����&J���62��
������?�2?����5�
"�?��������7C�3�#	$�	?A��6�����A%��<
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"�?����� B�#�	��I ��?�&��� B�������?             (�5;

<�,2542) #���
8?����?A����=�������$�$��	�����?���A�������:���������%���
������	������=���69� 
Bassompierre #	$��$ (1997) &���%����7C�3��5���<I ��?�I������%����&J2�I ��
��6�?�6���
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�$��"�������I ��?�:��#�	��I ��?����� � ���� I ��?�:��6���� #	$I ��?�:��<
� JC���	:��
�����6�"�$��"�������I ��?��?�&��� B��?������
���
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1.2 
��k�
�P��

  1.2.1  �������	
�
�
��6�2�>2?�	���
���
� yellow mystus, freshwater catfish #	$ green catfish I��

��5��2�
8��=�� 	�����	
��:��:%�#��I�� Smith (1965) ����I�������� (2545) ����?A
Class  Pisces

Subclass  Teleostomi
Order  Nematognathi

Family  Bagridae
Genus  Mystus

Species  Mystus  nemurus  (Cuv. & Val.)

���M�$����& #�$���#S����$k��Y
� �������	
�
 	�����	
��� B� 	��A%�:
��?�&2�2?��	K� 	%����2?	��3�$�	2���6����������=���

#"���?��� B��9 ��$6�� (conical) ��$�9�����������:��I����?"�	��  ������� =����&��#=K�
#��  �$��"����{~�J?��	K��6�A�#	$2?  	��#�	2#"" cordiform � B��	5�2��9�"�=����&��	���  
=����&��"�#	$�<��� �� J?����� (gill rakers) 6�A��	K� 	��#�	2 :%���� 15 J?� ��" ��2?
���� 4 �9� �
�"�
���:29� (nasal barbells) =����&��"� (maxillary barbells) =����&��	��� 
(mental barbells) �����	$ 1 �9� ��?"�	�� �$��"����������?"#=K� 1 ���� #	$ ������?"���� 7 ���� 
2?��?"&=2����9�"��	�����6�������=��	%�����%�#�������=��2��"��?"��� ��?"���� B���?"���� 
10-11 ���� ��?"�9� B���?"�9�#	$��#��	$=���2?������?"#=K�#	$#�	2�2 1 �9� #	$������?"����
=���	$ 9 ���� ��?"���� �$��"����������?"���� 6-7 ���� ��?"�������	C�#@�"��������#@�	���
 �$��"����������?"���� 16-17 ���� (2�I��>�#	$��$, 2536)

 	�����	
��<"#<����$:����#�	���A%�:
������& =����? ���J?���A�#�����J?�
�$����� &��#�� �
���?� �� �	  ��?6��� #	$"���	���7 ���J?��$�������@?����� &��#�� �2?��2���  
&�� 6�8�����4 �$��8
 &�� �$����	�� ��2<9�� ��?����2 2��	�J?�#	$�
�I��?�J?� 6%����"
 �$��7&��<"��#�	���A%�8��2���
#	$������K"�A%������5��92
���=�� �$��7 ����������
�<"��
#2��A%���  �� ��� �2 ���� �����<$��� �=
���6
�
�
�
� � B���� ����$�������@?�����
� <"��#2��A%�29	 
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���	%� �� �=
���	%��$��� ����	��<"��#2��A%��:��<�$�� �=
���7�?���
���� 6%����"������ <"
��#2��A%��� � �$�	6�"6�=	� �$�	���� �=
���"��	��� B����
Sn
����L������
����

 	�����	
��:��� B� 	��?���9���:%�<�� 	��
���
A� 	��3�$��$�<�$������ B�
�5��������������2?6?=��=5��I���������8��2���
=�� 	�����	
��&��#�� #2	����� � �������
=��#2	��A%� �5���A%�:
� #	$6�������	5�2���6���J?��  crustaceans  ��2�C� 	� (Rainboth, 1996 ����
I��������, 2545)
 �����UV�� �������	
�

�� ~::5"������	?A�� 	�����	
��� B����?<�?��%�	��&����"���26��::����3����
#��=��29	����	?A�� 	�����	
����
�<��
������2?&2�2�����JC��:�������"��2=��29	=�� �6���� #	$
�5<
��� (&2� ���! ��?�<
2<�) �C��9 #""����	?A�� 	�����	
��=����3����"�����<"����
�2�	?A��
��� 2 �9 #""�
�

1. ����	?A����"���
� I��<"�����3����:$���	9� 	�����	
���?�2?=������2���
�$����� 15.0 - 17.0 �J��
�2�� #	$2?�A%������$����� 22x42 ���2 �	?A����"���
�=��� 2 &�� I��2?
�������� 	��� 1,600 ������ 1 &�� ��
� 1 ������������2�� I����������:%�<�� 	�� B��62
�
��2
�#	$#��8��5 �$�$��	�����	?A�� �$2�� 7 ��
��&�� 	��A%����� 400- 500 ���2�A%�������2��A�
6
A� 2,125 �
I	���2 �
�� B��	�	
�&��	$ 1,062.5 �
I	���2�������������� 79.82 � ����JK��� 2?
��������#	���
A�������" 4.5

2. ����	?A������$���  	��3�$=����$����?�����	?A��2?��A���$�����
��
���9���"�?�#	$
��$�����
�	��"��
��A%�I��2?�5�� �$��"�
���"�����$��� JC��I������& =�����$����?��	?A��2?
=�����A�#�� 9 	9�"�7���2�� :��C� 21 	9�"�7���2�� =���=�� 	��?�����	?A��6�����>�� B� 	��5��
=������2���	%���� 7.17 �J��
�2��  	���������� 300 ���/ ��$���=��� 9 	9�"�7���2�� #	$
 	�=����	���A%����� �$����� 200-250 ���2������  	���������� 1,000 ���/��$���=��� 21 	9�
"�7���2�� ������?����� B� 	�� B�6�"#	$������2K�6%���K:�9 6%����" 	��5� #�������� 	�� B�
6�"<"��� 	�����	
��:$2?����:�
>��
"I��?��?����������������2K�6%���K:�9 6%����" 	��5��?���A�
����5��������������%������?����� JC��6���	�����"�����	��=�� �6����#	$65=���? (2537) �?�<"���
������	?A�� 	�����	
������5������$���=��� 9 	9�"�7���2��� B���	� 6 ��
�� ������ 	�� B�6�"
� B�������%���� 	�����	
��2?�A%������@	?�� 83.87 ���2/��� �������������� 73.79 � ����JK��� 
�����#	���
A� 4.98 �
�� B�����5������ 24.90 "����� 	� 1 �
I	���2 ( 	�� B��
I	���2	$ 5 "��) 
=�$�?�����	?A������������2K�6%���K:�9 6%����" 	��5�  	�����	
��2?�A%������@	?�� 72.61 ���2/��� 
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�������������� 59.29 � ����JK���  �����#	���
A� 2.76 �
�� B�����5������ 33.12 "����� 	� 1 
�
I	���2 (������2K�6%���K:�9 6%����" 	��5��
I	���2	$ 12 "��)
���L
�
����P��
����Y
� �������	
�

1. I ��?�#	$����$2
I��?�:%�� B�
 	��������I ��?��<
������:�
>��
"I�#	$6������
A���
����2��A�� B�#�	��<	��

����?�6%���>  ���2�������I ��?�=�� 	�#��	$��
�:$2?2�������<?����=CA���" ~::���	��
 �$����?�6%���>&��#�� ��
� =�����
����5=�� 	� �5���<I ��?����������2�C�6��<#��	��2
���� �$��"�5���92
�?� 	���7����9� 6%����"���2�������I ��?��� 	�����	
����A�:�����7C�3�
=�� Khan #	$��$ (1993) �?�7C�3��$��"I ��?��?���2�$62�������:�
>��
"I�=�� 	�����	
��
=��� 25 ���2 <"���������?�2?�$��"I ��?� 42 � ����JK����%���� 	�2?����:�
>��
"I��?�?�65��	��
����	?A��� B���	� 12 6� ���� �2
��� �?�"��?�"��"�����69���
�� � �?�2?�$��"I ��?�������" 27, 32, 
37, 47 #	$ 50 � ����JK��� ��2	%���"  I���5�69�������2?�$��"<	������?�����&��������" 3.69 �
I	
#�	��?�/����� 1 ���2

6%����"���2�������I ��?��� 	���
��
�������  	�����2�
��� (channel  
catfish) Gibson #	$ Delbert (2001) <"���������?�2?�$��"I ��?� 37 � ����JK��� #	$<	����� 3.6 
�
I	#�	��?�/����� 1 ���2 �%�����A%�������2#	$ �$6
�8
��<�����������=�� 	�����2�
���
=��� 17 ���22?���69��?�65��	������	?A��� B���	� 6 6� ���� �2
��� �?�"��?�"��"�����69���
�� � �?�2?
�$��"I ��?����<	�����  ������" 32 / 3.0 , 37 / 3.0 , 32 / 3.6  #	$  32 + ����$2
I� 5 � ����JK��� / 
3.0 (� ����JK���I ��?�/�
I	#�	��?��������� 1 ���2) ��2	%���" 6%����"���2�������I ��?�=��
 	��5��5�����5�� Boonyaratpalin (1988) <"�����9��?��$��" 25-35 � ����JK��� ���:���?A�%����#	$��?
�� (2525)  &��#6�������K����������?�2?�$��"I ��?�������" 30 � ����JK��� 6�2����%���� 	��5�2?
����:�
>��
"I��?�?�65� #	$����5��������%��?�65�  ��=�$�?��$��"I ��?����<	������?���2�$62
6%����"����%�& ����<
������:�
>��
"I��� 	��5�����=��� 7 ���2 I�� =��>���� (2527, ����I��
��?��, 2542) <"���������?�2?�$��"I ��?� 30.9 � ����JK��� #	$<	����� 1,800 �
I	#�	��?�/
�
I	���2 2?�	�%���� 	��5�����2?���������:�
>��
"I�  ��������� 	?��������� B���
A� #	$�����
���������69�65�

6%����"�$��"����$2
I��?���2�$62�������:�
>��
"I�=�� 	�����	
����A�:��
���7C�3�=�� �5�
2� #	$��$ (2545) <"����$��"����$2
I��?���2�$62�������2?�	������
�:�
>��
"I�=�� 	�����	
��� B�������
��I���@<�$����$2
I��?�:%�� B�JC�� 	�&2�6�2���
6������$�����&�� I���9��
:��&���%����7C�3��$��"�?���2�$62=������$2
I��?�:%�� B� 5 ��
�&��#�� 
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&	J?� ����:
�?�  �2�&8I��?� 	9J?� #	$&�IJ	9J?��������6%����" 	�����	
��=����A%����� 4 
���2 I�����������C��"�
65�8
� JC��2? 	� '� �:	��
� #	$����$2
I��9 �	C�� B�#�	��I ��?� #	$2?
�$��"����$2
I��?�:%�� B��?���	���?����"���� �$��"=������$2
I�=�� 	�����	
�� ���������
�$2
I��?����������6�" JC��2?�$��"�?�#���������:������& ��2�� 6%����"�����69����"�522?
 	� '��5���<�? (I ��?� 60 � ����JK���) � B�#�	��I ��?�#���<?���������?�� #	$�$��"I ��?� 
&=2�� #	$<	�����=���������	����#��	$���7C�3�:$2?�$��"��	���?�����  JC���	:�����
7C�3�<"����$��"���2�������&	J?� ����:
�?� �2�&8I��?� 	9J?� #	$&�IJ	9J?�=�� 	�
����	
��2?����
�� B�����	$=��I ��?�������" 3.47, 4.74, 2.69, 3.78 #	$ 2.46 ��2	%���" JC�����
���2��������$��"����$2
I��?�:%�� B��?�&���?A2?�����	���?����"�$��"���2�����������$2
I�=��
 	�����2�
��� ��A��?A��:��
���2�:�� 	���A� 2 ��
�2?<��
���2����
�������?���	���?��������
#6����������?� 1
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������?� 1 �$��"���2�����������$2
I��?�:%�� B�=�� 	�����	
���2
��� �?�"��?�"��" 	���
��2�
���

 	�����2�
���1  	�����	
��2��
�����$2
I�
�$��"I ��?���

�����
(%)

 �
2�����2
�����������$2
I�
����	$=��I ��?�

�������

�$��"I ��?���
�����
(%)

 �
2�����2
�����������$2
I�
����	$=��I ��?�

�������
&	J?� 24 5.10 35 3.47

30 5.00 - -
����:
�?� 24 4.30 35 4.74
�2�&8I��?� 24 2.30 35 2.69
	9J?� 24 3.50 35 3.78
&�IJ	9J?� 24 2.60 35 2.46
�?6�
�?� 24 1.50 - -
{��
	�$	��?� 24 5.00 - -
��
I��?� 24 2.00 - -
��
 I��{� 24 0.50 - -
��	?� 24 3.00 - -
1National  Research  Council (1993)
2�5�
2� #	$��$ (2545)

2. &=2��#	$���&=2���?�:%�� B�
&=2��� B�#�	��<	������?�6%���>������� 	�I�� Alava #	$ Kanazawa (1996) 

<"���&=2��� B�6��������?����<	�����2���?�65����������A%������2
��� �?�"��?�"��"#�	��<	��
����
��� �
�I ��?�#	$����I"&����� JC�� Halver (1980) <"���&=2�� 1 ���2���<	����� �$2�� 
9 �
I	#�	��?� ���:���?A���&=2���?�� B���5<��8�=��&=2�����2?"�"��6%���>�����2������������
=�� 	��	����
�  	��%����&=2��2���� �$I�������������I�� !
�
�
������?���2? ���� �	
�
����I2���
����� � ��
��%�& 6$62�������$ ���� � ����������<
���%������?�&����2 ��
 ���� 
"�
������
�� �6�� �$6�� 62�� ��" #	$�	��2��
A� � B���� #	$�?�6�����C���%�& ����	�>�<
���%�
�����
�<	��������2��?���A����&=2��2?6�������������9�JC2�
��2
��?�	$	��&����&=2���?����� 
6%����"���2�������&=2��=�� 	�����	
����A�2?�<?��������=�� �5;
<� #	$��$ (2541, ����
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I���5;
<� #	$2��29����$, 2544) I���%�����	?A�� 	�����	
��=��� 2 �
A�����69��������?�2?�$��"
&=2�����������A�#�� 13-25 � ����JK��� #	$<"����A%������@	?��#	$�A%���������?��<
�2=CA�=�� 	�
����	
��&2�2?���2#������������5���5������	��#���$��"���&=2���?�:%�� B� (	
I�	?�
�)�?�2?
���2��2�$62�������:�
>��
"I�=�� 	�����	
����9��?��$��" 0.5 � ����JK���   (�5;
<� #	$2��29
����$, 2544) 6%����"�$��"&=2���?�2?�	�������:�
>��
"I��?��?�� 	�����2�
�����9��?��$��" 10 
� ����JK��� (Twibell and Wilson, 2003)

3. ����I"&�����
 ~::5"�����&2�2?��������?�����"�$��"����I"&������?���2�$62������2�������

=�� 	�����	
�� I��6�����>����7C�3����2�����������I"&������
�27C�3���" 	��
�<
�
��
� 	��
���A�<
�#	$��
A�2������ ��
���:�� 	���A� 2  �$����?A2?���&J2���������I"&�������
 �
2��2��JC��#������:�� 	��
���
A� (�?�<�7�, 2536) �����A���� �$2���$��"����I"&�������
����� 	��
���
A�6�����>��9��
:��2��:$�%������2���2�������=�� 	���
��
���?�2?�
6������
�
������?���	���?�������
�� B� 	��?���9�����$�9	��?����� (��?��, 2542)

6%����" 	�����2�
��� Twibell #	$ Wilson (2003) <"��� 	�����2�
����?�&����"
������?�2?I ��?� 30 � ����JK���2?����:�
>��
"I��?�?�65��2
��&����"������?�2?�$��" ����I"&����� 
32.5 � ����JK��� #	$�$��"&=2�� 10 � ����JK��� ��=�$�?�69��������
����?�2?�$��"����I"&����� 
38.2 � ����JK��� &=2�� 7.5 � ����JK��� #	$�$��"����I"&����� 44.0 � ����JK��� &=2�� 5.0 
� ����JK��� 2?����:�
>��
"I����	�2���2	%���"

4. �
��2
�
6�����A%�2?���2��������
��2
��� �
2���	K������<
���%�2����������:�
>��
"I�  

����%����?�
� ���6
"<��85����� B� ��
 I�� 	�&����"�
��2
�:��8��2���
#	$:�����6������$��
=CA�2����#����::$&2��<?��<�������2������������A�:C�:%�� B�����&��:��������?��
��=��&  I����
 	�����	
��  �$��" (2541) &��#6�������K���� 	�����	
���?�&2�&����"�
��2
��������"�����%�
��� 	�������
� ��
�������K�&�����I��  	�:$2?�
��	A%�  ��?#6�  �"
������� #	$2?�	������
�:�
>��
"I��������K�&����� �2
��� �?�"��?�"��" 	��?�&����"�
��2
���"����#	$���<"��� 	�
����	
���?�&����"�
��2
�"? 5 �?��$��" 50-200 2
		
���2�������� 1 �
I	���2 2?�	�%���� 	�2?���
�:�
>��
"I��?��? #	$&2�2?���2�
� ��
�����
A���
����
����2�
� ��
������ �2
��� �?�"��?�"��"
 	��?�&����"������?�&2�2?����6�
2�
��2
�"? 5 ���:���?A 65��� (2541) <"�������62 #�6��"
�-
2-I2I�{�6�{�-#2��?�J?�2 (AMP) �� �
2���?�2?��
A��
��2
�J? 45 2
		
���2 �������� 1 �
I	���2 
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�<
����� 	�����	
��=����A%����� 1.17 ���2 2?����:�
>��
"I�69�65� #	$ ���������=���
��2
�J?
�?�#6����������� #	$���$��"��
A���
��&��

5. #��8��5
#��8��5� B�6����
���?���?����������������<
���%�2����������:�
>��
"I�#	$�%���

�?< �� 	�����	
�����&2�<"���2?���7C�3���?�����"���2������� �
2��#��8��5��
������ #��
6%����"�����"�
65�8� (purified diets) =�� 	�����2�
���:$���#��8��5��2�� �
2�� 4 ���2 ���
����� 100 ���2 (NRC, 1993)

1.2.2 �$""�����
�
����Y
� ��
�$""������������#	$��$"��������������=�� 	�2?���26%���>I��������

����:�
>��
"I�=�� 	�������?� 	��
�:$�=��69���$"��������������I��:$�9�����:��6��
������?�2?I2�	�5	��>�#	$J�"J������� B�6��������?�2?I2�	�5	�	K� �<
���?� 	�6�2����9�JC26��
�����������=��69���$#6�	
��#	$�9�����	�>�<
�����&��<	����� I���?�<�7� (2536) �	������ �5�
��<#	$ �
2��=��6�������2?���26%���>�����2����� �$6
�8
��<�������6�������=�� 	�
�<
���%�& ��� �$I���� ��
���:����� 	�&����"6���������"��A��5���<#	$ �
2��#	$2?�������
#	$����9�JC2����������2? �$6
�8
��<  	��K:$2?����:�
>��
"I��?��? #����������=��2��� 	�
&����"6��������?�&2���2�$62��
�2?�������#	$����9�JC2&2��?�K:$�:�
>��
"I���� 6%����"�$""
�����
������=�� 	���::$2?���2#���������"�������������
�����
��������6�?�$�
�����A��?A
=CA���9���"��
�#	$�5 �
6������
������=�� 	� I������& �� 	���$�9�#=K�:$2?	��3�$������
��
������ 4 	��3�$��2��
�#	$�5 �
6������
������=�� 	� (��<�?� 1)
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��<�?� 1 �$""�����
������=�� 	���
������
 A=  	����I"��������� ( 	��
���
A�2?��$�<�$������9 ������)
 B=  	��5� ( 	��
�<
�#	$��
A�#��6�����>�:$�
���
A� #	$2?��$�<�$������ B��5�)
 C=  	�&� ( 	��
�<
�#	$��
A�#��6�����>�:$�
�<
� #	$&2�2?��$�<�$�����)
 D=  	���	:����� ( 	��
�#<	������<
�2?��$�<�$������ B����)
 �?�2� : Smith (1989)

:����<�?� 1 :$��K�&�����I������& �$""�����
������=�� 	�:$ �$��"���� 
 �� �	������� ��$�<�$�����#	$	%�&6�  #���$""�����
��������::$2?�9 �����?�#���������
��
���:��<��
���2����
�������?�#�������������?�&���	���2�#	��=������ I��������������=��
 	���
�2���:���2
�� 	��
�������=��& �K:$2?�������=���=�����������	K�	�I��{~�:$�%� ����
�?������"������=�����>����2?=����	K�	��	��:����A������:$��
����	�69��	��������<
��
�������& �����$�<�$�����#	$	%�&6� JC��� B������$�?�6%���>���������#	$�9�JC26�������I��
����$"������?A���&J2���
��A%�����:$2?"�"��6%���>������
�����������6����������2?=���
�	K�	�I������$�<�$�����#	$	%�&6�:$ �$��"& �������&J2��	����
��?�2?�5�62"��
�����
����6���������
����� � ���� ���&J2�I ��
��6 (protease) � B����&J2��?�����6�������I ��?�
���2?=����	K��?�65����2����9 =������$2
I� (��<�?� 2) JC����$"���������I ��?�:$ ��
�2����?�
��$�<�$�����I���2
�����������2�69���$�<�$������	��:���?��9�"�:�	$��?��#	��    ��$�<�$

10



�����:$�	��������	
�& ��$�5������%����=�����&J2��  J
I��:� (pepsinogens) ���� 	?���� B�
���&J2�� "J
� (pepsin) �?�6�2�������I ��?����2?=����	K�	�I�����#��<��8$  �  &���
�$���������$2
I����:��������� B�6��6�A� � �	��:����A��K:$��������?�"�
���	%�&6�I���?���"
���� #	$����	%�&6�:$�%������?�������	
����&J2��	����
����� ��
 J
I��:� (trypsinogens) &�
I2��
 J
I��:� (chymotrypsinogens) JC�����&J2�����	���:$�9���$�5��I�����&J2�������I�&�
��6 (enterokinases) ���� 	?���� B����&J2�  ��
 J
� (trypsin) �<
������I ��?����2?6���  &����?�
6�A�	���?����� �  I�� (peptone) :����A����&J2��	����
����	5�2    �$2
I��  �
��6 
(aminopeptidase) �?��	
�:������	%�&6�:$�����  I������ B�I<	?�  &��� &���  &���#	$&��  
&���:����?�65�� B�����$2
I�JC��� B�������?��	K��?�65�=��6�������I ��?� (Bassompierre, 
1997)

��<�?� 2  ����%����=�����&J2�I ��
��6���������6	��I ��?�
�?�2� : Bassompierre (1997)

6%����"���&J2��?�����&=2��&��#�� ���&J2�&	� 6JC��� B����&J2��?�����&���	?
�J�-&������I2�	�5	=��&=2��2?=����	K�	�:�� B����&=2���
6�$�?� 	�6�2����%�& ���
 �$I����&�� 6������&J2���6�����6:$������6������?�2?�A%�����I2�	�5	���� I�����&J2���A� 2 
��
��?A2?#�	���%���
�2�:������	%�&6�#	$��"���� (De Silva and Anderson,1995) 6������&J2��?�
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6%���>6%����"��������I"&�����&��#�� #�	{� �$&2�	6�	���2�:������	%�&6�  ������$�<�$����� 
��"����� B���� I�����26�2����������������I"&�����=�� 	�#��	$��
�:$#���������      
����=���2�� ��
���:�����26�2��������6�������&J2� #�	{� �$&2�	6 �<
����������I"&�����
&2��������=CA���9���"��
�=�� 	� ���� 	��
�<
�6�2���6�������&J2�#�	{� �$-   &2�	6&��2��
���� 	��
���
A�:C�6���	��� 	��
�<
�2? �$6
�8
��<�������������I"&�����&��  2������ 	��
�
��
A� �����A�������# ��������� 	��
���
A�:C����&�����$��"��C��JC����������������     �������
 	��
�<
�

1.2.3 �
�&oL���
�i �
U�
���&J2�� B��	5�2I ��?���
���C�� �������5�	�?�<"����2
��2?�����6�" I�����

�%����&J2�2�����6	���������&�I���	��
� ��
����&J2�����6	��I ��?��K<"����	�	
��?�&��
:���������6	�����&J2���A����2����9 =������$2
I� I�����&J2��?�2?��9���6
��2?�?�
�<"��A���
6����2?��$�9�6���	�� <
� #	$:5	
���?�� 2?�5�62"��
<
�73��������� !
�
�
�����������6	��6��
����� �$������� � ���2?I2�	�5	�	K�	�&��2?�����2? �$6
�8
��<�<
���?�:$�%�& 69���$"�����
6����<	����� #	$ 	� 	���<	�����:��6���������	����A� ��"�9�& ��"����%�<	������?�&��& 
6����6��<	�����<���2��"6������$������ �$��"���� � ������J		��<
������:�
>��
"I�=��
�J		�2?�?�
����&  ���:���?A�5�62"��
<
�73=�����&J2��?� �$�����C���K�
�  ���&J2�2?        ���2
:%��<�$���6���?��%� !
�
�
���?���?����� 6�"6���� (substrate) 69�2�� ������� ���&J2�����6	��
I ��?�:$&2�����6	��<��8$&�	I�J
	=������I"&����� ��
�<��8$��6�������	
 �� #	$&2�
6�2�������6	��<��8$� "&�����I ��?�&����A��2� ( ���?, 2543) �����A�6�"6����:$����2?
I���6�����?���2�$62 #	$6���	�����"���&J2� #	$I�#{������ JC���������6	��6�"6����=��
���&J2���A�2?	��3�$��������<�	�����"	9��5>#: (6�"6����) ��"#2��5>#: (���&J2� #	$I�
#{������) I��������%� !
�
�
�����&J2�#	$I�#{������:$����:�"��"6�"6��������#	��:C�   
��
�������� !
�
�
���������6	��6�"6����&��� B��	�	
� (��<�?� 3) ������� ���������&J2�I ��
-
��6����6	��I ��?� �2
��6�"6����2?I���6�����?���2�$62#	$2?���2:%��<�$������&J2�#	���K:$
2?���:�"������#	$���� !
�
�
������6	��&���	�	
�� B�����$2
I�� B����
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��<�?� 3  	��3�$����%����=�����&J2����������6	��6�"6����
�?�2� :   ���? (2543)

���&J2�I ��
��62?�
��6�2�>�	���
�� &��#�� � "�
��6 I ��
��6  I ��
��6  � "-
&���&�I���	6� B���� :��� B����&J2��?�2?���26%���>������
�����$""������������=��6����2?
��$�9�6���	�� I�����&J2�I ��
��6:$�%������?�� B����&J2��?�����6	��I ��?����2?=����	K�	�
� B�I<	?� "&��� ��
�����$2
I� I���%��������6	��<��8$� "&��������A%� (Walker et al.,1995 
����I�� �
������, 2544) I�� �$6
�8
��<���������6	��I ��?�:$2?2�������<?������A� ���2
:%��<�$=�����&J2��?�2?���6�"6����=�����&J2���A�2?���26%���>������
�� �	����
� 	��3�$���
�%����=�����&J2�I ��
��6��#��	$�	5�2:$2?���2:%��<�$���6�"6�����?�#��������� ���� 
���&J2����	5�2�J�?�I ��
��6JC�� �$��"���� α- chymotrypsin, trypsin, elastase � B���� � B�
���&J2��?�2?���2:%��<�$��"<��8$� "&�����6��I ��?��?� �$��"���� lysine arginine 
phenylalanine tryptophan � B���� 6���#�6 ����
�I ��
��6���� � "J
� :$2?���2:%��<�$���
<��8$� "&����?� �$��"���� phenylalanine I���������6	��I ��?�=�����&J2��?A2?��A��������
6	��<��8$� "&���I���
6�$ (randomly) �����6��I ��?� (endopeptidases) #	$�������<��8$
� "&���:�� 	��6��I ��?� (exopeptidases)

1.2.4 ���ZX�M��$��"�����
�i �
U�����
�O��"�U�� W�#����i �
U���
���� �������
�&oL�i �
�
�
PP���k��
����$��
�
����Y
�P�
���V%�

����%�����5�
"��
������2������������626%����"�	?A�� 	���A� �5���<=������5
�
"2?���26%���>2���?�65��������%�& ��� �$I����=�� 	� I���@<�$������
������5�
"������?�� B�
#�	��I ��?�JC�� 	�:%�� B������%�& ���������:�
>��
"I�#	$� B�#�	��<	����� �� ~::5"��#�	��
I ��?��?��
�2�%�2������������626%����" 	�2?��9���������	��#�	����A�:��6����#	$<
�

                          enzyme               substrate       enzyme substrate complex
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����	
������5�
"��
���2����� B�#�	��I ��?��������2?���2:%�� B�������
���?�
:$����<
:�����C����26�2���=�� 	����������#	$�9�JC26�������:������5�
"��
���A��2�
��������
� �$I����69�65� JC�������6�"������$��"�������I ��?�:������5�
"�?�� B�#�	��I ��?�
�������&J2�6���:�������$�?������������������=�� 	� ���� ��$�<�$����� #	$	%�&6�� B��
8?
�����C���?�6�2��� �$�2
�&���������5�
"�?�� B�#�	��I ��?���
���2?���2��2�$62������%�2����
������� 	�&�������2? �$6
�8
��<2���?�65� ���:����A� �
8?���������$��"�������I ��?�����
��$"�����������&J2�����?��	���2�� B��
8?����?���
���
�&��  �$������	�#	$������:���&��� B�
������?�?����� (Dimes and Haard, 1994) ���������	��=�� Dimes #	$��$ (1994) �?�����	
��
 	� '������%�2����� B�#�	��I ��?��������6%����" 	�#J	2�� I��7C�3��$��"�������
6	��I ��?�=�� 	� '�:��#�	�������&��#�� Chilean FM Noruega, Chilean FM  Negativo, 
Chilean  FM  Positivo, Norsea  Mink, herring meal I��2? casein � B��5���"�52 I��������&J2�I 
��
��6�?�6���:��&6��
�� (pyloric cecae) =�� 	����I"��������� �
2�� 1 2
		
	
��	���6��	$	��
�������� (I ��?����2�=�2=�� 6.25 2
		
���2�� 1 2
		
	
��) �?�&��:������62����$�����I ��?�
:������5�
" 	� '�#��	$��
���"6��	$	��"�{�{����$��" pH 7.6 #	$����� B���	� 8 ����I2� �?�
�5���92
 37 ��7��J	�J?�6 <"��� 	� '� Chilean FM  Noruega, Chilean  FM  Negativo, Chilean 
FM Positivo 2?����$��"�������I ��?�69�65�� B������" 1,2,3 ��2	%���"  (21.0, 19.9, 19.7 
� ����JK���) 6%����" Norsea Mink #	$ herring meal 2?����$��"�������I ��?�������" 17.5 #	$
14.4 � ����JK�����2	%���" I�� casein JC��� B��5���"�522?����$��"�������I ��?�������" 25.3 
� ����JK���

Bassompierre #	$��$ (1997) ��6�"������$��"�������I ��?��� 	� '��?�2?
�$��"I ��?��?�	$	��&�� (water soluble protein) �?�#���������I��������&J2�6���:����$�<�$
�����#	$&6��
��=�� 	����I"���������� B����&J2���6�" <"��� 	� '��?�2?I ��?��?�	$	��&��
������" 20 � ����JK��� 2?����$��"�������I ��?�69�65�������" 3.72 � ����JK��� ��=�$�?� 	� '��?�2?
�$��"I ��?��?�	$	��&��  25 #	$ 95 � ����JK��� 2?����$��"�������I ��?�������" 3.49 #	$ 1.56 
� ����JK��� ��2	%���" �%�������"����5���< 	� '�2?�	����$��"�������I ��?��������

���:������
:�������6�����A%�:$2?���������&J2�6����<
����6�"������$��"���
����I ��?�:�� 	� '�#��	$#�	���<
������	
�� 	� '��?�2?�5���<2����� B�#�	��I ��?��������
6�����A%�#	�������6�"�$��"�������I ��?�������5�
"<
�#	$��������������&J2�6����<
��
7C�3����2� B�& &��������������5�
"<
�� B�#�	��I ��?���#�� 	� '� �K&����"���26��::��
����
:�������6�����A%�������� ���������=�� Grabner #	$ Hofer (1985) &���%������6�"�5���<
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=��#�	��I ��?�I��������$��"�������I ��?�:������5�
"<
� 2 ��
� &��#�� ������	
�� (soya 
bean) #	$ broad bean JC��� B�<
���$�9	������
���C��2?�
���
���7�6������ Vicia  faba �������&J2�
I ��
��6�?�6���:����$�<�$�����=�� 	����I"����������?�2?6��	$	��"�<�{����$��" pH 3.8 
� B���	� 15 ����I2� <"��� ������	
��2?����$��"�������I ��?�������"  27.1  � ����JK��� #	$ broad 
bean  2?����$��"�������I ��?�������" 16.8 � ����JK��� 6%����"�����6�"����$��"�������6	��
I ��?��������&J2�6���:��&6��
�� 	����I"��������� ��������62�?�2?���#���?�I ��?�:�� 	�
 '�����I ��?�:���	
������������	
�� 2 ��
� &��#�� ���������	
�� (soybean meal) #	$I ��?��=�2
=��:��������	
�� (soy protein concentrate) �?��$��" 25 � ����JK��� ��69�������<"��� ����$��"���
����6	��I ��?���69��������?�2?���#���?�I ��?� 	� '�����I ��?�:�����������	
��2?�������
��" 10.35 � ����JK��� 6�������$��"�������I ��?���69��������?�2?I ��?��=�2=��:��������	
��
#���?�I ��?�:�� 	� '�  2?����$��"�������I ��?�������" 11.55 � ����JK��� JC��&2�2?���2#������
���6�
�
��"69����"�52 JC��2?I ��?�:�� 	� '� 100 � ����JK��� I��69����"�522?����$��"���
����I ��?�������" 12.42 � ����JK��� (Dimes and Haard, 1994) JC���	�����6�"����$��"�������
I ��?�=������5�
" 	� '� ����5�
"<
�#	$������?�2?���#���?� 	� '���������5�
"<
�I��������
���&J2�6�����6�"����?�&���	���2�#	����A�6�2���6�5 &�����#6����������?� 2 #	$ 3

:$��K�&������
8?���7C�3�������$��"�������I ��?�:������5�
"��
�������?�� B�
#�	��I ��?�I������%����&J2�6���:�������$����������?�� B�#�	��=�����&J2�I ��
��6=��
6�����A%� � B��
8?�����C���?�6�2��� �$�2
��5���<=��I ��?�#	$� B�=��29	<
A�4�� �$��"���
<
:��������	
��#�	��I ��?��?�2?���2��2�$62�������6�����A%��<
��6�����A%�6�2�������I ��?�
:��#�	��I ��?�����	���& ��������
� �$I����69�65�



������?� 2  �$��"�������6	��I ��?�=������5�
"��
������ �	�������6�"�������&J2�6���

����5�
" ���&J2��?����
��6�"�$��"���
����I ��?�

�5���92
 pH =��
"�{
�{���

�$�$��	�
�������
6	��
(����I2�)

�$��"���
����6	��
I ��?�
(DH%)

�?�2�

C h i l e a n   F M   
Noruega
C h i l e a n   F M   
Negativo
C h i l e a n   F M   
Positivo
Norsea  Mink
Herring  meal
Casein  (Control)

Trypsin 6���:��
&6��
�� (pyloric
caeca)=�� 	�
���I"��    �������
=��� 250 x 500
���2

37°C 7.60 6 - 8 21.00
19.90
19.70
17.50
14.40
25.30

Dimes  #	$
��$ (1994)

Fish  meal
(Soluble protein 
20%)
Fish  meal
(Soluble protein 
25%)
Fish  meal
(Soluble protein 
95%)

Pepsin :�
��$�<�$�����
Trypsin  :��	%�
&6� 	����I"��
������� =��� 200
���2

3.80

7.80

24 4.351,3.332

3.951,3.042

3.421,3.082

Bassompierr
e  #	$��$
(1997)

Soybean  meal
Broad  bean

Pepsin  6���:��
��$�<�$�����
 	����I"����
�����

3.80 15 27.13
10.80

Grabner
#	$ Hofer
(1985)

Chilean  anchovy
Mex ican   t una   

Hepatopancreas
=���5��=��

25 °C 8.00 1 31.22
23.20

Ezquerra
#	$��$
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waste
Deboned  white  
fish
Menhaden  A  fish
Menhaden  B  fish
Langostilla
Soybean  protein

Penaeus

vannamei  =���
10 ���2

33.99
25.32
28.60
28.22
31.13

(1998)

1�$��"�������6	��I ��?�I�����������&J2� pepsin :����$�<�$����� 	����I"���������
2�$��"�������6	��I ��?�I�����������&J2� trypsin :��	%�&6� 	����I"���������

������?� 3 �$��"�������6	��I ��?���������?�2?���#���?� 	� '���������5�
"<
��	����� ��6�"
�������&J2�6���

 ����� � $ �� "
I ��?�

(%)

���&J2��?����
��6�"�$��"
�������I ��?�

�5���9
2


pH
=��
"�{
�{���

�$�$��	�
�������
6	��

    (����I2�)

� $ �� " � � �
�� � � 6 	 � �
I ��?�
     (DH%)

� $ �� " � � � #� ��?�
I ��?��� 	� '�
���������� � ��	
��
6����A%�2��1

0
15
20
25
25+�5����� '�5%

48 x 50.6 &6��
��
(pyloric caeca)
=�� 	� Coho
salmon =���
(2.57 ���2)

15 °C 7.60 4

19.18
18.44
18.47
17.48
18.59

Herring  meal (HM) 40 Trypsin 6��� 15 °C 7.60 6 - 8 12.42
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2

HM :  S BM 3 ( 3 : 1  
w/w)
HM: SBC4(3:1 w/w)

:��&6��
��
(pyloric  caeca )
=�� 	� ���
I"���������
=���

(2.40 ���2)

10.35
11.55

1Haard  #	$��$ (1996)
2Dimes  #	$ Haard (1994)
3SBM   =  ������	
��6����A%�2��  (soybean  meal)
4SBC   =  I ��?��=�2=��:��������	
��  (soybean  concentrate)

1.2.5  qkk���U�LU��
�
�����
�P���i �
U�����
�O��"����
���� i���
�&oL�i �
��
Pk��P�
���V%�
 ~::���?�2?�	����������6	��I ��?�������5�
"I�����������&J2�I ��
��66���2?

�	�� �$��� ���� ����5�
"  pH  �5���92
  #	$�$�$��	����������6	��� B����
1. ����5�
"
��
�#	$���� �$��"=������5�
"  ������?�2����5�
"  ���2�=�2=��=������5�
" 2?

�	����������6	��I ��?� I�� Bassompierre #	$��$ (1997) �	������ ��
�=������5�
"2?�	���
�$��"�������6	��I ��?� I���@<�$������
������5�
"�?�2?6������I������� (anti-nutritional 
factor) ��9����$��"69�JC��<"&��������5�
"<
��	����
� I��:�������	��=�� Bassompierre #	$
��$ (1997) <"��� 	� '��?�2?�$��"I ��?��?�	$	��&���� �
2����%�2?����$��"�������I ��?��?�69�
���� 	� '��?�2?�$��"I ��?��?�	$	��&��69��	��:�����������&J2�6���:����$�<�$�����#	$&6�
�
��=�� 	����I"���������� B����&J2���6�" ���:���?A �
2��&=2��������5�
"���2?�	������
����6	���?����� ����5�
"�?�2?�$��"&=2��69���:��
� !
�
�
�����J
������=CA����$������������6	�� 
(Mackie,1982 ����I���
������, 2544) #	$����5�
"�?�2?6���=����
A���
����?���<��2���K:$�%�������
�$��"�������I ��?���%�&������ �����	��=����:@�
�� (2542) <"�������$��"�������I ��?�=��
���
����� 	��9���2?���69���������$��"�������I ��?������ 	��9��� ��A��?A�9��
:��&��������5�	��� ��
6���=����� 	��9���2?��
A���
����?���<��2���%�������������"�#	$�������6	���������&J2�

2. �$��" pH ��6��	$	��"�{�{���
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�$��" pH �?���2�$622?�	����6�?����<#	$#���
�
�?=�����&J2� �	����
� �$��" 
pH :$2?�	������#�����=���
���=�� phototropic group �?���9���"�
�������=�����&J2��%����
���&J2�2?�	�%������
����� 	?���I����9 6�22
�
 JC��:$2?�	�������"?����"������:�"       ��"6� 6
���� ��
�������� !
�
�
�� ���:���?A pH ���2?�	��������
����:�"����$����� ���&J2�  ��"6� 6��
�� ���#���
���=��6�"6���� #	$I�#{������JC��:$�%�& 69����:�"��"���&J2��?�� 	?���& ���� 
�����A��� !
�
�
��:$������"�52 pH �����2�$6269�65��?�&2����#���
�
�?=�����&J2��9���"��A� JC��
I������& ���&J2�I ��
��6#��	$��
�:$2?�$��" pH �?���2�$62����6�?����<#	$                #���

�
�?=�����&J2�#��������� ���� �  J
� :$2?�$��" pH �?���2�$6%����"I ��?�����& ������" 2 #	$
2?���2�6�?��=�����&J2��?� pH ������" 2.5  6��� ��
 J
�:$2?�$��" pH �?���2�$6%����"I ��?�����
& ��9��$����� 7 x 11 � B���� ( ���?, 2543)

3. �5���92

�5���92
�?��	
��������������6	��I ��?����� B��5���92
�?���2�$626%����"���

�%����=�����&J2���
���:���5���92
�?���2�$62:$�����<
�2������������ !
�
�
���%�������&J2�2?
���:�"�����"6� 6����&����K�=CA� I�� ��
����%� !
�
�
��=�����&J2�:$��K�=CA��2
���5���92
�<
�269�
=CA� #������5���92
69���
�& �K��::$�%�������&J2��6?�6��<&��  JC�������6�"�5���92
�?���2�$62
������%� !
�
�
��=�����&J2���:�%�&��I�����"�2���&J2��?��5���92
����� �?��$�$��	���C������
��"��	�=������
����$��#	$�%�2���#���
�
�?=�����&J2���#��	$�5���92
 ( ���?, 2543)

4.  �$�$��	����������6	��
�$�$��	����������6	�� 2?���26�2<��8�I�������"�����6���=������$2
I�

&�I���:����&�I���:���2 �
������ (2544) ���������I������& �$��"�������6	��I ��?�:$
�<
�2=CA�����������K����$�$��
�2���=���������6	�� #	$�	��:����A��$��"�������6	��:$���?�
��
��<
�2=CA��	K�����  ��
�������	��������$��"�������I ��?�������5�
"��
����� � I�����
������&J2�6���:��6�����A%���A��9��
:��2��:$�%�����$�$��	����������6	��I���
8?����	?��#""
8��2���
�?�6�����A%�#��	$��
������	�:�
� �������������������$�<�$�������
�	%�&6�

1.2.6 ���������
������������	
�� W�#����i �
U���
���� ��
�	
������������	
��� B�#�	��I ��?��?�����
:�������6�����A%�<"���6�2����%�2�

����������6�����A%�&���?#�	����C�� (#<��<��� #	$��5�?, 2542) I��<"����2
��2?����%��	
������
:��������	
��2�����������6�����A%���
���������$��"�?���2�$62#	��6�2����%���� 	�2?���
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�:�
>��
"I��?��? #	$��������������69���	���?����"69����"�52�?�2? 	� '�� B�#�	��I ��?��<?��
�������?�� ����  	��$<�=�� (:9�$�? #	$2$	
, 2538 ; 2$	
 #	$��$, 2539)   	��
	 (Viola  et al.,
1988; Shiau  et  al.,1987; Wee  and  Shu, 1989) � B����  �����A�:$��K�&�������=�$�?� 	� '�� B�
#�	��I ��?�:��6�����%�	�� �$6" ~>��=��#�	� #	$����69� ����%�I ��?�:���	
����������
��	
��2����������	
������6�����A%�:C�� B��������C���?�6�2���	������� 	� '����	�����	�
JC��� B��	�?��� �
2�����<����6�����A%�I���@<�$ �$���� 	��?��%�2�����%� 	� '��������9�
�	��&  ��2�C�����%�����	
������������	
���?���&�������������
��2���� �$I����������5�2���#��
�$��"�������	
������������	
���������6�����A%��?���2�$62:$����=CA���9���"��
�   �
2��#	$�5�
��<=���	
������������	
������ JC����
�#	$�5�	��3�$=���	
������������	
���?�6�2����%�2����
������	
������6�����A%�2?����?A

 ���������	
��6����A%�2��
� B�����5�
"������?�2?I ��?�69�I�� Sitasit (1993) ���������I ��?����������

��	
��6����A%�2���� �$��7&�� 2?2������ 42 � ����JK��� ���������	
���?�6����A%�2��:$2?�5�������
I��������?����������	
���?�����A%�2�� ��
���:�����������	
��6����A%�2��&��������$"������	
�
I��������2����69��%����6�2����%�	��6����"��A� ��
 J
�&����
�"��A��2� �?���A����:$ ������&2�
�����
� ~>����2K��
��?����� (�?�<�7�, 2536) �� ~::5"��&��2?���2<����2�?�:$�%����������	
��
6����A%�2��2��62������� 	��<
����#�������� 	� '�JC��2?����#<�I�� Chuapoehuk #	$
��$ (1997) <"��� ���������	
��6�2����%�2�����������6�����A%�&���C� 30-50 � ����JK���  6%����"
���� �$��"�����2?=�����������	
�����#6����������?� 4

������?� 4  ���� �$��"�����2?=�����������	
��

6��� �$��"                                            % ����$2
I�                                                %
���2�
A� 10 &	J?� 2.73
I ��?� 44 �2�&8I��?� 0.59
&=2�� 1 �2�&8I��?� + J?6�?� 1.26
��
���� 7.0 ��
 I��{� 0.59
���� 6.0 ��?I��?� 1.72
#�	�J?�2 0.25 &�IJ	9J?� 2.17
{�6{���6��� �$I����&�� 0.20 ����:
�?� 3.18
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	9J?� 3.39
�{��
	�$	��?� + &�I�J?� 3.82
�?6�
�?� 1.11
��	?� 2.24
&�	J?� 1.83

�?�2� : ��2 756���� (&2� ���! ��?�<
2<�)

 �2	K�������	
��
�2	K�������	
��2?�5�������I���������	���?����"���������	
�� �?���A����2?������%�

�������������	
���?����� �%����6�2���	�����5�����	
������%�	�#������%��2	K�������	
������
���2�����?��5���92
 100 ��7��J	�J?�6 ��� 30 ���? �<
������	�6����"��A���
 J
� #	���%�& "�
���	$��?��#	$��������?�"�#	������2����� (�?�<�7�, 2536) ��
���:���2	K�������	
���?���	
�����2
��
��K"&����::$�%������2K��
�&�� 6%����"���� �$��"�����2?=��������	
����A��2	K����#6������
����?� 5
������?� 5 ���� �$��"�����2?=��������	
����A��2	K�

6��� �$��"                                            % ����$2
I�                                                %
���2�
A� 10 &	J?� 2.40
I ��?� 38 �2�&8I��?� 0.54
&=2�� 18 �2�&8I��?� + J?6�?� 1.09
��
���� 5.0 ��
 I��{� 0.52
���� 4.6 ��?I��?� 1.69
#�	�J?�2 0.25 &�IJ	9J?� 2.18
{�6{���6��� �$I����&�� 0.20 ����:
�?� 2.80

	9J?� 2.80
�{��
	�$	��?� + &�I�J?� 3.30
�?6�
�?� 1.01
��	?� 2.02
&�	J?� 2.00

�?�2� :  ��2 756���� (&2� ���! ��?�<
2<�)
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�C�#2�����	
������������	
��:$2?�$��"I ��?�69���2�$6%����"�%�2������#��
 	� '��������6�����A%�#�� Chuapoehuk #	$��$ (1997) <"����������	
������������	
����
 �
2��69���
��%�2������#�� 	� '���6��6����?�69���
�& 2?#��I��2���6�����A%�2?����:�
>��
"
I�#	$ �$6
�8
��<�����������	�	���
���:��������	
��2? ~::��:%���� ������& �?A

1. ���2&2�62�5	=������$2
I���������	
�� I�����	
������������	
���5���
�
:$2?����$2
I� methionine �� �
2������&2��<?��<���"���2�������=��6�����A%� ���:���?A��
=�A����=�����#���A%�2�� ��
�����%����������	
��65� ������	
��:$&����"���2�����%���� �
2��
=������$2
I� lysine �?�6�����A%�6�2������&��2? �
2��	�	���
���:�� !
�
�
�� browning  reaction 
�$����� lysine ��"6�� �$��"����I"&����������������	
��

2. ������	
���
"2?���&J2��9�
��6 (urease) JC��:$����I ��?���������	
�����6	��
& ��
��� � �����K"&����� �
2��I ��?�:$	�	� (<���
<�, 2538)

3. ������	
���
"2?6������I����������� ��	����
� ���� protease inhibitor 
(trypsin inhibitor), phytohaemaglutinins, phytic acid #	$ saponins � B���� (Tacon, 1992) ��
"����6����	���?A trypsin inhibitor � B�6���?�2?"�"��6%���>�?�65� JC��2? !
��
��=��=�������%����
=�����&J2� trypsin ���������I ��?�I��:$��2�����" trysinogen �?���"�����	
����2��%����
���&J2� enterokinase =��	%�&6��	K�&2�6�2���� 	?��� trypsinogen & � B� trypsin &��2?�	�%����
�������I ��?�&2�62"9��� ���:���?A��"�����K:$�	
�#	$=�"���&J2����2�2�� ���&J2��?���	
�
���:$�9�=�"�������������2������ ��
 �%�����������=������$2
I� methionine  ��
���:��6����
�������������	
����&J2�2��=CA� :C�2?�	�������:�
>��
"I�=��6�����?�	�	� (:��5�����, 2528)

1.2.7  �$P��T���S�����
�
����
 �$6
�8
��<������������=�� 	�� B�����?�#6���C����26�2<��8��$�����

 �
2��������?� 	�&����"#	$ �
2��6��������?��9�����#	$�9�JC2 JC���?A�����K���� 	�2?���2
6�2�������������������
�6������������ &���?�<?���� I������& ������?��
��=��& :$�9�����
:��I2�	�5	=�����>����2?=����	K�	�#	$�9��9�JC2 @$��A���� �$�2
� �$6
�8
��<�������
�����:C���:�%����&��:���	����=��������?��
��=��& #	$29	�?�=�"���2� JC��:$&��� B�������?�
�9�������
��9�JC2�=��& ��A����  ���2�2?���<�;��7C�3� �$6
�8
��<������������=�� 	�I��
���6���
��
������� JC��6�2������"�C�� ����JK����������&��=��8��5�������
������  � ����JK���
�������&��=��8��5������9�#6�����2���	��3�$=��6�2 �$6
�8
��������8��5����� (apparent  
digestibility  coefficient) (�?�<�7�, 2536)
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��� �$�2
� �$6
�8
��<������������#"�����&��� B�  2  �$��� �
�
1.  �$6
�8
��<������������#��:�
� (true digestibility) � B����7C�3� �$6
�8


��<������������=�� 	� �?�2?���<
:�����C� �
2��=��6���������� 	�  (endogenous 
material) JC��6�����>�� B�6�� �$��"&�I���:� ���� ���&J2� �  &���  (peptide) �J		�"5�
� 
(epithelial cell) �?��9�=�"���2�<���2��"29	 	� �����7C�3� �$6
�8
��<������������#��:�
�:$
��� 	��
�������?�&2�2?6�� �$��"&�I���:� �<
����� �$�2
����6�� �$��"&�I���:������
 	�JC���9�=�"���2�<���229	

2.  �$6
�8
��<�������������62
�� (apparent  digestibility) :$&2��%����6��
 �$��"&�I���:��������� 	�JC���9�=�"2�<���229	 	�2����������%���� �$6
�8
��<���
��������� (Lovell, 1988)

6%����"���7C�3� �$6
�8
��<������������=�� 	�2?  3  �
8?  �
�
1. �
8?��� (direct  method) � B�������6���������A��2��?� 	��
��=��& #	$=�"

���2���29	 	�I����� I��=�� 	����2#�"�	
JC2#�2�"���#	$"����"��� 	��
������  :��
��A�:C���K"29	 	�JC�����������	���� #	$ �$�2
���� �$6
�8
��<������������=�� 	�I�����62
��� (Lovell, 1988)

 �$6
�8
��<������� (� ����JK���) =  �
2��6��������?� 	��
� x  �
2��6��������?�=�"���2���29	
 	�

                   �
2��6��������?� 	��
�

2. �
8?���2 (indirect method) � B��������
��
���������
����
����2�� (indicator or 
marker) ��
2& �������#	����6��6���=�����������
��
��������?�2?�������#	$2?��29	 	�62
����?��������� �$�2
���� �$6
�8
��<������������=�� 	������
8?�?A  �
�  (Lovell, 1988)
 �$6
�8
��<������� (� ����JK���)= 100 -    �
2��6��������?� 	��
�   ×    �
2���
��
���������29	  ×
100

                        �
2��6���������29	 	�        �
2���
��
���������
�����

3. �
8? Assay  diets ��
���:������������5�
"������<?����
���?�� �����7C�3� �$
6
�8
��<������������#	$����9�JC26�������"����
���A���:2? ~>�������7C�3�  ��
���:��

X 100
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 	�&2���2��"������?����������6�" :C�&��2?���<�;���
8?����?A=CA�I��6����69��������?�� B�
69������������
� (reference  diet) ��"69��������?����������6�" (test  diet) I�����69��������?�
���������6�"�?�2?����5�
"����������
��� �
2�� 70 � ����JK��� #	$2?����5�
"�?����������6�"
�� �
2�� 30% JC����������6�2 �$6
�8
��������=������5�
"�%�&��I�����7C�3�I���
8?���2JC��2?
62����?��������� �$�2
���� (Sugiura  et  al., 1998) ����?A

 �$6
�8
��<�������I ��?�=������5�
" (� ����JK��� )
= [( �
2��I ��?����������6�" x  �$6
�8
��<�������I ��?����������6�") x 

(0.7 x  �
2��I ��?�������������
� x  �$6
�8
��<�������I ��?�������������
�)] / (0.3 x 
 �
2��I ��?�������5�
"��6�")

�
8?7C�3��?� 2 #	$ 3 � B��
8?�?��
�2���2���� ~::5"�� #��:%�� B�����7C�3�����
��
�������
��
����?����#	��2?���2��2�$62��" 	�#��	$��
�������A��?A�<
�����&������?��9�����

6%����"�
��
��������?�������2?�5�62"��
�
�  	�&2�6�2�������&���5�62"��
���
��2?&2�� 	?���# 	�  &2�� B�<
3��� 	� �������������:6�" #	$2?����������	
����?��������
�
�����������?����"������?� 	��
� (Lovell, 1988) JC��#"��� B� 2  �$��� (De Silva and 
Anderson,1995) �
�

1. �
��
������������� (external indicator) ���� Cr2O3, FeO, SiO2, polypropylene 
� B����I���
�2��� Cr2O3 � B��
��
������������7C�3� �$6
�8
��<������������=�� 	�

2. �
��
������������ (internal  indicator) ���6���?�2?��9���8��2���
� B��
��
��-
����������7C�3� �$6
�8
��<��������������=�� 	� &��#�� crude fiber JC��2?�J		9I	6 
(cellulose) #	$	
��
� (lignin) � B�6��� �$��"�	�� hydrolysis-resistant ash JC��2?�5�62"��
� B� 
mineral  ash �?�����������������������

���:������	
������
��
��������?���2�$62��" 	�#��	$��
�#	�� �
8?�����K"��"
��229	 	��K2?���26%���>������ �$�2
� �$6
�8
��<������������=�� 	� ��
���:��29	=��
 	���9����A%��%����29	"��6�����:	$	���A%�#	$6�������	$	�����  �2
���%�& �
����$��<"���
6���������29	2?�����%��������2:�
� JC��2?�	�%���� �$6
�8
��<������������=�� 	�2?���69���
�
:�
� (Henken et al ., 1997 ����I�� Degani  et al , 1997) �
8?�����K"29	 	��<
��7C�3� �$6
�8
��<
������������=�� 	�2?����?A (�?�<�7�, 2536)

24



1. ������	%�&6� (intestinal dissection) I�����6��� 	��	%�&6����
���������=CA�
2� �$2�� 2.5 �J��
�2�� ��
�2�������	K����� (=CA���"��
�=�� 	�) ��
���:��� B�"�
����?��6�K:
6
A�������������#	��<���2:$=�"������������� 	�

2. ����9��������� (anal suction) �
8?�?A2?�5 �����?�2?	��3�$� B�#��� (glass  
cannula) #	$2? ~�2�9�����7 �<
���9�29	=�� 	����2�:����������I��&2�������� 	�

3. ����?� (stripping) �%�&��I�����:�" 	�2��?�"�
�������#	$���������<
�����
29	���2�

4. �����"��2���A%� (collection from water column) �
8?�?A 	������ 	�����29	
���2���2 ��
#	���%������"��229	����? �
8?�����K"29	��:#���������&  ��A�#��������������?�
��
��$#������?������9�����	����9���	�� I���2
�� 	�����29	���2��K6�2����������
��$#���
�����
���:���6�����<	�6�
�=����	K��=��& �9���
���	���A%����29	 	����2���
���:������
���
��K"29	���I�2��
 � B���� �� ~::5"��:$�
�2����
8?�?A���2�� ��
���:��2?����"��� 	����� Degani 
#	$��$ (1997) �%����7C�3� �$6
�8
��<�������������� 	� carp (Cyprinus   carpio  L.) <"
���29	 	�2?���	$	���A%�����������K� �������5�?A:C�� B��������?�:$&��29	2�I��&2�69>�6?�:�����
	$	���A%� �����A�:C�����
8?�����"��229	I������?� ���:���?A Spyridakis   #	$��$ (1989) &���%�
���7C�3�� �?�"��?�" �$6
�8
��<������������=�� 	��$<��5I�  (European  seabass, 
Dicentrachus labrax) I��� �?�"��?�"�����K"��"��229	 	������
8?�������� �
�������	%�&6�  
����9�������������  ����?� #	$�����K"��"��229	 	�:�����A%� 3 �
8? �
���K"��"��229	 	�
�	��:���������� 15 ����I2� (immediate  pipetting) �������29	 (continuous  filtration) #	$���
��K"��"��2I������5 ������"��229	���$���#	$#��29	 	����:���A%� (decantation) <"���
�����"��2I�����29	 	����$���#	$#��29	���:���A%� � B��
8?�����K"29	 	��?���2�$62���
���7C�3� �$6
�8
��<������������=�� 	��2
��<
:����:�� �$6
�8
��<�������I ��?� #	$
 �$6
�8
��<�������&=2�� ���#6����������?� 6 #�������&��K��2 �����K"29	I�������"��229	
�	���������� 15 ����I2� #	$�������2?=���?��
���:�� 	� �9��"������������
8?�
���
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������?� 6  �$6
�8
��<�������I ��?�#	$&=2��=�� 	��2
����������K"��"��2=��29	 	�����
�
8?������� �

�
8?�����K"��"��229	 	�  �$6
�8
��<�������
           I ��?�

(%)

 �$6
�8
��<�������
&=2��
(%)

����?� 82.5+1.4 a 94.1+0.8 a

������	%�&6�  84.4+0.8 ab 95.0+0.4 ab

����9��������� 86.6+0.3 b 96.3+0.4 b

������� 90.4+0.6 c 93.0+0.2 b

�����"��229	 	��	���������� 15 ����I2� 90.6+0.3 c 97.3+0.2 b

�����"��229	 	�I�����29	 	����$��� 94.2+0.1 d 97.1+0.3 b

#	$#��29	 	����:���A%�
�?�2�: Spyridakis #	$��$ (1989)
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1.3. ��
�O �$P���Y
������k��
1. 7C�3��$��"�������I ��?�=���	
������������	
����
�������������&J2�    I 

��
��6�?�6���:����$�<�$�����=�� 	�����	
���<
���	
���	
������������	
���?�2?�$��"�������
I ��?�69�2����� B�#�	��I ��?�������� 	�����	
��

2. 7C�3��	=���$��"�������	
������������	
���?�2?����$��"�������I ��?�69�
#���?� 	� '���������������:�
>��
"I�   �$6
�8
��<����������� #	$ �$6
�8
��<������
I ��?�=�� 	�����	
��

3. 7C�3� �$6
�8
��<�������I ��?�=�� 	�����	
���	��&����"������62�?����
�	
������������	
��� B�#�	��I ��?��?��$��"�����
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